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सामान्य निरे्दश- (General Instruction)  

 परीिार्थी यर्थासंभव अपने शब्द ं में उत्तर दें। (Examinee write answer in their own 

words as far as practicable.)  

 कुल प्रश्नद ंकी संख्या 19 है। (The total number of questions are 19) 

 

 प्रश्न संख्या 1 से प्रश्न संख्या 7 तक अक्षत लघु उत्तरीय प्रश्न हैं। इनमें से क्षकन्ी ंपााँच प्रश्नद ंके उत्तर 

दीक्षिए। प्रते्यक प्रश्न का मान 1 अंक क्षनधााररत है।(Question number 1 to 7 are very short 

answer type questions. Answer any five of them. Each question carries 1 mark.) 

 प्रश्न संख्या 8 से प्रश्न संख्या 14 तक लघु उत्तरीय प्रश्न हैं। इनमें से क्षकन्ी ं 5 प्रश्नद ं के उत्तर में 

दीक्षिए। प्रते्यक प्रश्न का मान 3 अंक क्षनधााररत है।(Question number 8 to  14 are short 

answer type questions. Answer any five of them. Each question carries 3 marks.) 
 

 प्रश्न संख्या 15 से प्रश्न संख्या 19 तक दीघा उत्तरीय प्रश्न हैं। इनमें से क्षकन्ी ंतीन प्रश्नद ं के उत्तर 

दीक्षिए। प्रते्यक प्रश्न का मान 5 अंक क्षनधााररत है।(Question number 15 to 19 are long 

answer type questions. Answer any Three of them. Each question carries 5 
marks.) 

 

 

 

Section - A 

Very Answer type Questions (vfr y?kq mÙkjh; iz”u) 

 
1. Write Lewis dot structure of H2O molecule.  
     H2O v.kq ds fy, yqbZl fcanq lajpuk fy[ksaA  

2.  Define isolated system.  

   foyfxr fudk; dks ifjHkkf’kr djsaA 

3. Write general electronic configuration of p-block elements.  

     p-Cy‚d RkRokas ds lkekU; bysDVª‚fud foU;kl fy[ksaA 



4. What is the effect of catalyst on equilibrium state of a reaction? 

   mRizsjd dk vfHkfØ;k dh lkE;koLFkk ij D;k izHkko iM+rk gS\ 

5. Define oxidising agent.  

  v‚Dlhdkjd dks ifjHkkf’kr djasA 

6. Write IUPAC name of : 

     IUPAC uke fy[ksa: 

        

7. What is the value of pH for a neutral solution at 298K ?   

     298K   ij fdlh mnklhu foy;u ds pH dk eku D;k gksxk\ 

 

Section - B 

Short Answer type Questions ¼y?kq mÙkjh; iz”u ½ 

 

8. A system absorbs 701 J of heat and 394 J work is done by it . Calculate the  

    internal energy change of the system.        

   ,d fudk; 701 J Å’ek vo”kksf’kr dj 394 J  dk;Z djrk gS rks ml fudk; dh vkarfjd   

  ÅtkZ esa ifjoÙkZu dks Kkr djasA  

 

9. Find number of sigma(𝜎) and pi(𝜋) bonds in the following molecules:                       

fuEu v.kqvkas esa flXek (𝜎),oa ikbZ(𝜋) vkca/k dh la[;k Kkr djasA  

    (a) C2H4    (b) C2H2 

10. What are Lewis acids and bases? Give one example of each.    
      yqbZl vEy ,oa {kkj D;k gaS \ izR;sd dk ,d mnkgj.k nasA 

 

11. Name the element(s) of group 14 that    

       (a) forms most acidic oxide.      

       (b) is commonly found in +2 oxidation state .                                                               

       (c) used as semiconductor. 
   oxZ 14 ds mu rRo@RkRoksa ds uke fy[ksa  

    d½ tks vEyh; v‚DlkbM dk fuekZ.k djrs gaSA  

    [k½ tks $2 v‚Dlhdj.k voLFkk iznf”kZr djrs gaSA 

    x½ v/kZpkyd ds :i eas iz;qDr gksrs gSaA 



 

12. What is disproportionation reaction? Give one example. 
    vlekuqikru vfHkfØ;k fdls dgrs gSa \ ,d mnkgj.k nsaA 

 

13. How will you convert benzene in to: 

      (a) Nitrobenzene           (b) Chlorobenzene                 (c) Ethylbenzene 

   csathu dks fuEu esa ifjofÙkZr djsa : 

      d½ ukbVªkscsathu                  [k½ Dyksjkscsathu                                 x½ bFkkbycsathu  

 

14. Discuss the geometry and shape of H2O and NH3  molecules on the basis of   

       hybridisation.           

    ladj.k ds vk/kkj ij H2O ,oa NH3 अणुओ ंds T;kfefr ,oa vkdkj dk o.kZu djasA  

 

Section - C 
Long Answer type Questions ¼ nh?kZ mÙkjh; iz”u ½ 

15. Complete the following reactions:     

      fuEu vfHkfØ;kvksa dks iw.kZ djas :      

       (a) CH2=CH2 + H2  

       (b) CH3Br +2Na + BrCH3  

       (c) CH2=CH-CH3 + HCl      

       (d) CH3-CH2-Cl +KOH(alc.)  

       (e) CaC2 + 2H2O        

16. Balance the following redox reaction by ion-electron method : 

      MnO4
-(aq)  +   I-(aq)   MnO2(s)   +   I2 (s)   (in basic medium). 

    vk;u&bysDVª‚u fof/k }kjk fuEu vfHkfØ;k dks larqfyr djsa: 

     MnO4
-(aq)   +   I-(aq)    MnO2(s)  +   I2 (s)   ¼ {kkjh; ek/;e½   

17. Find hybridisation of the central atom in the following species: 

    fuEu v.kqvksa ds dsfUnz; ijek.kqvksa dk ladj.k Kkr djsa: 

       (a) BF3        (b) PCl5        (c) SF6       (d) 𝑆𝑂4
2−            (e) 𝑁𝐻4

+ 

 



18. Enthalpies of formation of CO(g), CO2(g), N2O(g) and N2O4(g) are -110, -393,  

       81 and 9.7 kJ mol-1 respectively. Find the value of ∆rH for the reaction: 

                            N2O4(g) + 3CO(g)     N2O(g) + 3CO2(g) 

         CO(g), CO2(g), N2O(g) ,oa N2O4(g) ds fy, fojpu dh ,UFkSYih dk eku Øe”k% -110,  

        -393, 81 vkSj 9.7 kJ mol-1 gS rks fuEu vfHkfØ;k ds fy, ∆rH Kkr djas:             

                             N2O4(g) + 3CO(g)     N2O(g) + 3CO2(g) 

 

19. The following concentrations were obtained for the formation of NH3 from    

     N2 and H2 at equilibrium at 500K. [N2 ] = 1.5 × 10–2M. [H2 ] = 3.0 ×10–2 M and  

     [NH3 ] = 1.2 ×10–2M. Calculate equilibrium constant. 

     

     500 K ij N2 rFkk H2 ls NH3 cuus ds nkSjku lkE;koLFkk esa fuEufyf[kr lkanzrk,¡ izkIr gqb±%    

     [N2 ] = 1.5 × 10–2 M, [H2 ] = 3.0 ×10–2 M rFkk [NH3 ] = 1.2 ×10–2M. lkE;koLFkk    

   fLFkjkad dh x.kuk dhft,A 

 


